RIGOUR

< MTH 4-20b

& Outcome 1 - Calculating the Range
Calculate the range from the following lists...

& 5,-2,3,-1,4,1,-4 & 4,0,-6,3,1,-3

-2,5,-1,2,6,-3,2 & 6,-2,7,-4,2,1,-3

P
S 15,-18,19,17,11,-12 & 28,-19, 32,-33, 26
L 2000, 6000, 4000,3000 & 8000, 9000, 8000, 9000

& 14000, 7000, 5000, 9000 4k 12 000, 16 000, 22 000

Homework 3

Silver Level
Outcome 2 - Calculating the Mean
Calculate the mean from the following lists...

& 6,2,9,-3,7,8,-1 6,7, -3 -2, 2 -4

&
& -7,2,-9,0,1,-10,2 & 3,-6,-3,-4,1,3

5 17,-14,19,23,13,-10 & 22,-38,24,-55, 17
.z 6000, 4000, 5000, 1000 8 10 000, 5000, 4000, 9000

2

13 000, 6000, 8000 JQ 12 000, 15 000, 21 000

Outcome 3 - Calculating the Median
Calculate the median from the following lists...

4108549628 & 85,3795
s 3.8,9,6,1,2,81 & 7,10,8,6,9,7
5 42,63,82,50,28,37 £ 64,38,49,27,50,74
Z -2,4,-1,-56,1,-4,8 8 -2,-5,3,-6,1,-3

& 9000, 2000, 7000, 9000 .AEJ 8000, 3000, 6000, 5000

Outcome 4 - Calculating the Mode
Calculate the mode for the following lists...

L 5,36,6,7,8,5,4 3,3,8,7,5,7

8,6,1,4,1,7,2,8 _g 4,5,9,2,4,9

o9

& 77,55,22,99,77,99 &£ 48,49,94,48, 43,43

8

& 30,50, 90, 40, 50, 90 L3 90, 80, 90, 50, 80, 30

& 4.6,2-55,6-43 -3,-8,-7,-6,-8,-7
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